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Development involves a movement from whole to parts and
back to whole, aimed for the ultimate consequences of
development.” This applies to the principle of

1. Inter relationship

2. Spiral and linear

3. Integration

4. Predictability
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Early childhood stage is also known as

a.
b.

b =0

toy age
troublesome age
pre-gang age

a only

b only

a and b only
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As per Piaget’s theory of cognitive development the process
“Assimilation” means

1.

4.

Fitting of the new information into previously
established cognitive structures

Alteration of existing cognitive structures

Maintaining balance between child and his changing
environment

Storing the information in a proper way
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According to Erikson’s psychosocial development theory, the
stage of trust Vs mistrust is between

1.
2.
3.
4.

1 to 3 years
Birth to 1 year
3 to 6 years

6 to 12 years
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One among the following differs from others with regard to
factors of attention

1.
2.
3.
4.

Repetition of stimulus
Intensity of stimulus
Moods and attitudes

Contrast, change and variety
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The second step in the process of memory is
1. Recognition
2. Recall

3. Retention

4. Relearning
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One of the following is not related to the ‘Instructional order’
proposed by Bruner in his discovery learning theory.

1. Iconic Method

2. Symbolic Method

3. Cognitive Method

4. Enactive Method
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A stimulus which elicits an innate reflective response is

A. Unconditioned
B. Conditioned

1. A only

2. B only

3. A and B

4. None of A and B
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The individuals of a group behave in the same way. This is
called

1. Group mind

2. Group structure
3. Group behaviour
4. Group norms
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The major role in Non-directive counselling is

client

o ®

counsellor
problem

a only

b only

a and b only
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The smallest and fundamental unit of computer Data is
1. BYTE

2. BIT
3. Nibble

4. Cube

§o§gj°§e35 cer Boof), 08 DY), (FEWE OFES
L 38

2. DS

3. DS

4. §3°§2’5_



12.

13.

The one which is not an internet browser

1. Internet explorer
2. Yahoo explorer
3. Google chrome

4. Microsoft edge
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The factor among the following which is not useful to face
frustration

1. Admitting the mistakes

2. Having self-concept

3. High desire level

4. Exertion beyond strength
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14.

15.

Among blocks to creativity, one of the following belong to
‘Emotional blocks’.

1
2.
3.
4.

Excessive Reliance on authority
Imposition of self - restrictions
Emphasis on obedience

Ambiguity and uncertainty
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Binet Scale of tests of intelligence is

1.
2.

W

4.
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Verbal, individual test of intelligence.
Non-verbal, individual test of intelligence.
Verbal, group test of intelligence.

Non-verbal, group test of intelligence.
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16.

17.

Study of a phenomenon in controlled situation is called

1. Case study

2. Observation
3. Experiment
4. Introspection
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This section of RTE - 2009 states that child should be admitted
in school even though T.C is not available

1. Section - 5
2. Section - 4
3. Section - 3

4, Section - 1
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18.

19.

The objective test of personality assessment

1.

2
3.
4

Personality inventories
Questionnaire
Case history

Interview
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In the consideration of various alternatives in search of critical
problem solving approaches, the thinking involved is

1.
2.
3.
4,

Abstract
Concrete
Convergent

Logical
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20.

21.

Adjustment is a continuous demand because

o ®

b =0

Change in the environment is inevitable
Many Social needs get satisfied

Social competencies get established

a only

b only

a and b only
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The initial context where the child’s emotional life unfolds

1.
2.
3.
4.

The attachment with caregivers
When able to speak correct language
When begins to play with peers

When learns to differentiate between right and wrong
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22.

23.

The number of items that the test of Verbal reasoning of DAT
(Differential Aptitude Test) contains

DAT (Brr&sys vz g5 H85) 8 BodS 08 IS
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1 50
2. 60
3. 40
4. 100

Incorrect statement with respect to Interest among the
following is

1. It is collective
2. It is like staying on one topic
3. A state of being involved with concentration on

one subject
4. A state of immersing willingly in one subject
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The Social distance scale was developed by

1 Likert

2 Gattman

3. Bogardus

4. Thurstone
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Among the factors that influence growth and development, the
economic and social status of family is

1 Internal factor

2. Emotional factor

3 Constitutional factor
4. External factor
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26.

27.

Among Goleman’s five components of emotional intelligence,
‘Self-regulation’ means

1
2.
3.
4.

Knowing what one is feeling at any given time
Controlling or redirecting one’s emotions
Perseverance to face obstacles

Utilizing emotional factors to achieve goals
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Conlflicts are classified into 4 types by
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28.

29.

One of the following is not the characteristic feature of
individuals with ‘Pyknic’ type of personality

1. Sociable

2. Easy going

3. Sensitive

4. Fat body
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The operant conditioning theory is proposed by

l. Pavlov

2. Skinner

3. Thorndike

4. Kohler
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If a student believes the work is important and enjoys doing
the work, this kind of motivation is

1. Intrinsic

2. Extrinsic

3. Concrete

4. Achievement
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61.

62.

63.

64.

Hours later, when grandmother had wrapped her in a shawl
and rocked her in the rocking chair, the child clung to her soft
body.

Choose the meaning of the word ‘clung’.
1. to do things badly.

2 to stuck to somebody

3. to join something
4

to clone an animal

The artist was known for his meticulous attention to detail in
every painting.

Choose the antonym for ‘meticulous’ in the sentence:

1. careful
2 precise
3. exact
4 hasty

Choose the meaning of ‘work on’:
1. to improve

2 to abandon
3. to ignore
4

to complete

Identify the sentence with correct punctuation.

1. She wore a beautiful, silk dress.
2 She wore a beautiful silk dress.

3. She wore a beautiful, silk, saree.
4 She wore, a beautiful, silk saree.



65.

66.

67.

68.

your question, the answer is ‘yes’.
Choose the correct preposition that fits the blank.
1. In addition to

2 In back of

3. With respect to

4 Thanks to

We waited midnight.

Choose the option that can be used to fill the blank.
1. in front of

2 underneath
3. prior to
4

up until

The following sentence is NOT in the Present Perfect
Continuous tense:

1. They have finished the project.

2 He has been reading a book for two hours.
3. They have been studying since morning.
4

I have been working on this project for a month.

Identify the structure of a positive sentence in the present
perfect tense:

1. Subject + was / were + verb + ing + rest of the sentence

2. Subject + will + base form of the verb + rest of the
sentence.

3. Subject + have / has + Past Participle + rest of the
sentence

4. Subject + is / am / are + verb + ing + rest of the

sentence



69.

70.

71.

72.

Alphabetical ordering provides the following advantage when
updating a dictionary

1.
2.

It allows for easy removal of outdated words.

It makes easier to insert new words into the correct
location

It helps in translating words into other languages.

It allows duplicate entries.

Select the sentence that can be used for transaction:

Ll

How much does this cost?
What a beautiful flower!
She is writing an essay.

Please sit down.

Identify the grammatically correct sentence:

1.

2.
3.
4

Ask him to sit besides me.
Ask him to sit beside me.
Ask him to sit beside with me.

Ask him to sit beside of me.

Choose the correct example of an exclamatory sentence:

1.

2
3.
4

What time does the train arrive?
Please help me with this.
Wow, that’s incredible!

She is a wonderful singer



73.

74.

75.

76.

The proposal was well received. , it met all the
requirements set by the committee.

Choose the option that fits the blanks.

1. Nevertheless

2. As aresult

3. Whenever

4 However

You complete the form before submitting it.
Choose the modal verb to express necessity.

1. must

2. would

3. could

4 can

3 years not considered optimum to go to school.

Choose the correct verb that fits the blank.

1.

2
3.
4

are
1S
was

WCEre

If I were a minister, [ would change your life.

Choose the type of conditional sentence

1.

2.
3.
4

Zero conditional
First conditional
Second conditional

Third conditional



77.

78.

79.

80.

Identify the prefix that changes the meaning of ‘legal’ to ‘not
legal’

1. dis -
2 il -
3. in -
4 pre -

Identify the idiom that means “to have a lot of responsibilities
or problems”.

1. to bring home the bacon
2 to be under the weather.
3. to get cold feet.
4

to have a lot on one’s plate.

Identify the type of adjective in the sentence.

This is the best chocolate cake I have ever tasted.

1. demonstrative adjective
2 comparative adjective
3. superlative adjective

4 quantitative adjective

Identify the sentence that uses a coordinating conjunction to
show contrast:

1. She likes coffee, and she likes tea.

2 I want to go, but I have to work.

3. He is tall, so he can reach the shelf.

4 They went to the park, for it was sunny day.



1.

82.

83.

&4.

Change the following active voice sentence to passive voice.

The chef prepares the meals every day.

1.

2.
3.
4

The meals are prepared by the chef every day.
The meals were prepared by the chef every day.
The chef is preparing the meals every day.

The meals had been preparing the chef every day.

Choose the one word substitute for “a person who gives
opinions about movies or books.”

1.

2.
3.
4

Editor
Publisher
Author
Critic

The primary purpose of writing a diary entry is:

1.

2.
3.
4

to record daily events and personal reflections.
to keep track of appointments
to plan upcoming projects

to write official correspondence

The main points in the body of a speech script should be
structured:

1.

2.
3.
4

randomly, based on how they come to mind.
in a logical order with clear transitions between points.
only in the order they are found in research.

by length, with the longest point first.
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86.

87.

88.

Select the sentence where the definite article is used before

names of newspapers and magazines:

1.
2.
3.
4

Choose the correct indirect speech for the sentence:

The Indian Airways
The Times of India
The boy who is reading a magazine

The girl who is selling newspapers

She said, “I might come”.

1.
2
3.
4

Choose the sentence that correctly converts the simple

She said that I might come.
She told that I may come.
She said that she may come.

She said that she might come.

sentence into a complex sentence:

The bag is too heavy for me to lift.

1.

2.
3.
4

The bag is very heavy and I can’t lift it.
The bag is heavily but I can lift it.

The bag is so heavy that I can’t lift it.

I am so heavy to lift the bag.

Choose the correct spelling of the word.

1.

2.
3.
4

embodiment
embodymant
embodimant

embodement
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90.

Read the following passage.

Social exclusion affects marginalized groups, including
Scheduled Castes, Scheduled Tribes, and other minorities,
limiting their access to opportunities and resources.
Discrimination and systemic biases perpetuate exclusion,
impacting social cohesion and equity. Efforts to promote
inclusion and equality are ongoing, but addressing these
deeply rooted issues requires sustained commitment.

Identify the groups primarly affected by social exclusion:

1. majorities

2 high — income individuals

3. scheduled castes, scheduled tribes and other minorities
4 government officials.

Read the following passage.

Social exclusion affects marginalized groups, including
Scheduled Castes, Scheduled Tribes, and other minorities,
limiting their access to opportunities and resources.
Discrimination and systemic biases perpetuate exclusion,
impacting social cohesion and equity. Efforts to promote
inclusion and equality are ongoing, but addressing these
deeply rooted issues requires sustained commitment.

Addressing social exclusion requires commitment.
1. temporary

2 sustained

3. minimal

4 short-term



91.

92.

The value of 3x* -1 at x=— is

NE)
x:_T31 58 3% —1 deS
L0
2. 1
3. -

4. 3

Product of prime factors of 792 is expressed as a’ xb” xc
thena+b+c

792 ®J§z)_ WS S°TETP05° @2{30?63 a’xb*xc e
55_@.667‘.’3?5, at+tb+c ®o§b_ RISOIN

1 28
2 23
3. 19
4 16



93.

94.

Match the following

WEDGI0E.

(@) {x:x’—4x+4=0} (1) {(-2,-1}

(b) {x:x’—-4=0,xeZ} ()  {-2,-1, 0}

() {x:—2<x<0,xeZ} (iii)  {-2,2}
iv) {2}

1. a-iii, b-iv, c-i

2. a-iv, b-iii, c-i

3. a-iii, b-iv, c-ii

4. a-iv, b-iii, c-ii

In the figure if ZABC = 69°, ZACB=31°

then %(LBAC +/BDC)=

%), $e08° ZABC = 69°, ZACB=31°

065’ %(LBAC +/BDC)=

1. 80°
2. 160°
3. 90°
4. 180°



95.

96.

Providing @150 grams of Rice to each student in Midday
Meal Scheme is an application of the following Central
tendency value

1. Median
2. Mode
3. Mean
4. Range

58 oS 150 Yrn SPHPS D0 Heegr) Ses
25508 o 35508 B4 (308 Todonh LI Fod
AABrA0BE08.

;5365&50
2P TFEO
DRED

9,

e

N

A man sold two of his goats for Y9900 each. On one he made
a gain of 10% and on the other a loss of 10%. Then overall
loss percentage is

2.8 558 &5 Boehd ¥ &85 & 99005 >yT.
©0tH S’ 2.5 oI 10% °eo 500050 HEE T 10% SHO
FPOBD. 0B NGO A BB S TS0

l. 10%
2. 5%
3. 2%
4. 1%



99.

5
2. L
5
3 -2
' 5
4. 2
5
5 —
RN
| 53 +4/5
' V3-4/5
2. _75(\/5—\/3)
3. _75(\/54-\/5)
A 53 -+/5
' V3445

The distance of a point P (a, b) from origin is (in units)
S0 Doy ooé P (a, b) DotHH ;536.5565?60
(oﬁor&’)%%ess)

1. va* -b*
2. N2a* - 2b*
3. vVa* +b*

4. N2a* +2b?



100.

101.

102.

In the diagram AB//CD, CD//EF and

y:z = 3:7 then the value of ‘x’ is \
%), $&08° AB//CD, CD//EF At x\x =i
528050 yiz = 3:7 2008 x Jews e Y, —_e

1. 54° \(\Z e

E o
2. 126° \
3. 720
4. 1440

AABC ~ ADEF and their areas are respectively 81cm” and
144cm’. If BC = 2.7cm then EF = (in cm)

AABC~ ADEFS:805» 3¢ 3aergen S5 81 $5.20.Q
508350 144 $.20.2. BC =2.7 20.2. @ond EF =
(0.5 8%

1. 3.6
2. 4.8
3. 5.4
4. 4.2

If sum of the first 14 terms of an A.P is 1050 and its first term
is 10, then 20™ term is

2.5 05(F3S° 0sed He5o 10 H8C5 e 14 Hore
080 1050 @S 2055 He50

1. 100
2. 200
3. 300
4. 400



103.

104.

105.

IfE and Eare complementary events then which of the
following is TRUE

E 50050 E oSS Jros poesen eons (08 ¢3s®
R lwthial

1. PE)+P(E)-1=0
2. PE)+PE)+1=0
3. PE)-P(E)-1=0
4. PE)-P(E)+1=0

Area of the triangle formed by the points (2,3), (—1,3) and
(2,—1) is (in square units)

(2,3) (=1, 3) 865 (2,—1) Dot Yo e (e
7050 (S8 ArAYS’)

o N A~

1.
2.
3.
4.

From a well shuffled deck of cards. If we pick a card
randomly the probability for it being a red king is

IO SoD2bS DED0Y,0 5u8° Hod drERysor &b
2.5 2E 0¥ DY oo S8 % ¥0eTI(S

L L
2
2. 2
26
3. L
13
4. L
26



106. Points (0, 0), (1,2), (4,2) and (3,0) form a
1. Parallelogram
2. Rectangle
3. Rhombus
4. Square
(0,0), (1,2) (4,2) 3580350 (3,0) e93> DotHYHen 23603675396&
1. PONeTTed iSeﬁod)z)zso
2. B¥mSypo
3. PNV iieﬁoci)a)&o
4 N blelvele)

107. In a certain data distribution table the class intervals are on
followed 0-10, 10-20 , 20-30, 30-40 ........ Then the type of
class intervals is

1. Inclusive class intervals

2. Exclusive class intervals

3. Comprehensive class intervals

4. Cumulative class intervals

2.8 PBIYTg S HYES” SN eosores HedFor
&INow. 0-10, 10-20, 20-30, 30-40 ........ 90N

Be SEKD 90SB0ren S TEHIS.

1. OS5 SEKS ev0soren
ATV OY) STXY 90BT°e0
DI SEKS eoSTen

Ll

DOV BHKH 90T



108.

109.

110.

Common factor of terms 10pq, 20qr and 30rp
10pq, 20qr 55805 30rp Hoee 6353&& S 8e3°050.

1. 10p
2. 20q
3. 10
4. Pq

If Cot 3A=Tan(A-30°), 0°<A<90°, then the value of Sin A is
Cot 3A=Tan(A-30°), 0°<A<90°, e200d Sin A Jen:s

B
’ 2
2. 1
3.
2
4. L
2

Identify the correct statement
@08 S° $BSA.

1. 10x10" =100"

2 2°>5°

3. 3° =(1000)°

4 2’x3* =6’



111.

112.

The number of lines of symmetry of a polygon having a
measure of each of its interior angle is 108° is

B8 @085 500 Fois 108° 1 Ko 2.8 vahe &),
S Do vogg

1
2
3.
4

2

3
4
5

A rectangular piece of cardboard is made to rotate speedily
with one of its lengths as axis of rotation, forms the following
3D-object to our visualization.

1.
2.
3.
4.

Cuboid
Cube
Cylinder

Cone

28 8?»5@36@3"6 TV A &8 FEHDH T8 K0
e FE IKore (@580 T A (BB 5.

1.

2.
3.
4



113.

114.

The value of Sin 0° + Cos 90° + /2 Sin 45° + Cos 45°—
Cot 45° is

Sin 0° + Cos 90° + /2 Sin 45° + Cos 45°— Cot 45° JenS

The total Surface area of a hemispherical object is given as
462cm’. Then the radius of the object is

1.
2.
3.
4.

7 cm

8.57 cm (Approximately)
73.5 cm

8.57cm’ (Approximately)

2. @gﬁwgo)@es‘s DY) 599 @Y, VOPYSe JTego
462 $5.200.2 I2E08. VS &8 S FFrLo

1.

Sl

7 20.0.

8.57 0.20. (H03Eom)
73.5 20.20.

8.57 $5.200.20. (oSrSHr)



115. Author of the Book ‘DATA’

1. Aristotle

2. Pythagoras

3. Euclid

4 Ptolomy

‘@¢” (DATA) &3 (Kog SSoaods
1. @83&55

2. RKER

3. ords

4. o

116. The first step in Herbart’s plan
1. Preparation
2. Presentation
3. Association
4. Generalisation

oG 9650 ST oot FSS0

1. éag:ro

2. 26;5360)83

3. DoOJdTo
N

4, PSS ESe0



117.

118.

‘The Learner gives examples of different polynomials,
depending on the degree of the polynomial’. This relates
to the following academic standard

1. Problem-solving
2 Communication
3. Connection

4 Reasoning-Proof

‘eae;°§26§x§o, 2TV DOITETR) 283, JIG TVIOH
EIPOEe 350" ¥R8 |§08 Iorydsreso

1. DRy FES

2. ;5§_§0Z36i5c‘$o

3. VOGS0

4, STETR0 TD)E0-IBTHEIen VS0

This among the following is not related to software for
Mathematics Teaching Learning process.

1. Geogebra
2. Arizona
3. Mat lab

4. Bitdefender

808 A" Ke3S S edgds PED ©02080DI
FZRE 8.

1L A8
2. 988
3. 6 o5

4, DS EdI5E



119.

120.

‘Rubric’ is
1. Test tool

2. Assignment tool
3. Scoring tool

4. Robo Campus
ErDE 930

1. QEA FES0

2. SPI0E JES0
3. F.B0R S0
4

8%5° srons

Properties of ‘Laboratory method’
A)  Group skills improve

B)  Develops group feeling

C)  Suitable to all topics

D)  Develops research skills
PDBrATO IES KoeToen

A)  mey Q@wge» PEROTO
B)  JPSorirE aresS DK
C) o) 8050% &350

D) 0TS TYeTien RS0
I. AB,D
2. AB,C
3. B,C,D
4. ACD



121. In uniform circular motion

1. object moves with uniform speed

2. object moves with uniform velocity

3. Both speed and velocity of an object are uniform
4. Neither speed nor velocity of an object are uniform

RDITSE Sos0S”
1. 5209 588 5&8° 3502300

2. 309 588 IKoS® $O08.
3 S99 BoF), $5& 8A Iren Tok DEOAS’
&0LI°0W.

4. $E 508050 Ien Boks V8RS’ &0y

122. The value of universal gravitational constant(G) was found by

1. Newton
2. James Chadwick

3. Henry Cavendish
4. Einstein
D MBS 20r050 e (G)S SHR°Y) T (938

LSS

2. B2y >&I
3.  ITR08R
4. 305%)35_



123. The quantities having same units among the following are

work and energy
work and power

1

2

3. energy and power

4. force and pressure

BoBTAE° &8 (PSreren Ko ooHew
1. DD SoBas» ¥

2 DA AW 3";53%80

3. F8 o8 b";ﬁogéo

4. 200 HOG HESO

124. If the temperature of an object in centigrade scale is t°C and in

Kelvin scale is TK then ;is

28 5399 Goo%) GLLKS DoLRE Y S 1°C 558050

3058 By TK waws - Jevs

.
t
2. _r
273
3. 1+L
273
273

4. I+—
t



125. In Ohm’s law V =iR, R depends on
1. potential difference (V)
2. Electric current (i)
3. Both V and i
4. Neither V nor i
5,50 AoDH30 V=1iR, S* R EID espr8se8:08.

L >8J9S Bso (V)

2. g8 (paeo (i)

3. V So8a5» 1Bo&e

4 V 28 520 @9erR 1S S0

126. ‘Weber’ is the S.I. unit of

Magnetic field
Magnetic flux

1.

2.

3. Induced current
4. Induced emf

B8 9038 B S.L (PSre0
1. AHI) 0 F(&o

2. @0 08 9DT~0
3. (W08 S (HI0
4. (98 JegIos 2200



127. The compound with molecular formulae CsH;, must contain

128.

1. All single bonds

2. One double bond

3. Two double bonds

4. A triple bond

CsHjpeoso 8000 Ko @eny) S9)00m SOA &0ad

1. @f{)}) NE 2000
2.8 &osaaocﬁo

2
3. [elele$ &Osaaomen
4 2.8 (& 200850

Hema and Prema gave two statements to identify the planets
from stars
Hema: Stars twinkle whereas planets do not

Prema: Planets changes their positions with respect to the
stars.
The correct option among the following is

1. Hema correct , Prema incorrect

2. Hema incorrect, Prema correct

3. Both Hema and Prema are incorrect
4, Both Hema and Prema are correct

SYE© 508 K0 KHBOmHESH Tr5 $H0a50

(30en B TP Stviteth

PR SHSPen EN SH0ETA @o0d e e
559

(P:5: S| Erenson (K550 &85 LI OD JE)Hoeraw.

Lo % 29p, (0% Sy

A DY, WS 2wy

N

3. I, (B gEer Sy
4. T, (D gEor awy



129. An example for a ‘liquid in gas’ type of solution is

1. Soda water
2. Gel
Fog
4. Emulsion
“FAPS’ |$50” TEY (ST o SIS
1. P
2. &
3. DK $o0H
4. DS

130. Discharge tube experiment: Thomson : : Alpha particle

scattering Experiment :

1. Neils Bohr

2. John Dalton

3. James Chadvick

4. E. Ruherford

EEBTY (SBTHO: TR it eseTm)Sed HOFeE

BKo:

L 5SE

2. TEYS

3. BRyrdE
4. 3 5638



131.

132.

The number of lone pair of electrons present in the central
atom of water molecule is

1. One pair

2. Two pairs

3. Three pairs

4. No pairs

N8 ©e0HS So(gs DESTENS” Ko 2,088 IS 2oL
260&)5

1. 8 =

2. TO& 2sdden

3. ST WS

4, ROLIVOLE)

Few copper turnings are added to zinc sulphate solution. The
correct observation is

1.
2.
3.
4.

Copper displaces zinc from zinc sulphate.
Copper cannot displace zinc from zinc sulphate.
Zinc sulphate solution turns to brown.

Zinc sulphate solution turns to blue.

20§ VB)ES (I £ TR SwH o SO, HIS
0230009 TS HOBOS

1.

2
3.
4

20§ ¥B)ES oé HoH ooh rSEovo Fods.
20§ VB)ES 08 FoHH o°A FS\Eodo BB,
20§ VB)ES (PSea0 KHiH BoK Srthio.

208 DB (5630 DO oD SrHH.



133.

134.

Find the organisms that have gills

A)
C)

1
2.
3.
4

Squid B)  Crocodile
Tortoise D)  Octopus
Aand C

B and D

Band C

A and D

Jn0yeo Ko 29O K80S0é.

A)
C)
1.

> w b

?ooszrc": B) 3038
ELATAISY D)  es§a%
A 3085 C
B 08 D
B S508a50 C
A 558050 D

The mode of transmission of “Rust of wheat” disease is

1.
2.
3.
4.

Insects
Water
Seeds
Birds

“RBe550S° oKD Kren T 308 AGPS0

1.

2
3.
4

dersoen



135

The protected area for conservation of wild life, plant and
animal resources and traditional life of tribal is

1. Biosphere reserve

2. Wild life sanctuary

3. National park

4. Reserve forest

S35\ Ere000, H) HOH IHWew HON & (oSS’
QSHRYY) ABES FOPEAH BSS DOTFEIH AT)e0
BAH2éS B3¢ (Froeso

1. P PaNTotar) 823%
;5835@“833@ @:92;5055"68'350
&A% EIPSS0

e N

8%% @éoi)@"oéo



136. Find the correct match
A)  Principles of Geology - Charles Lyell
B)  Principles of population - Alfred Russel Wallace
C)  Inheritance of acquired characters - Malthus
D)  Natural selection - Charles Darwin
1 Aand C
2. A and D
3. B and C
4 B and D
DOTS BB K8030&.

A)  RURS e Bared - 388 85
B)  maar dpodo -e@)6 56 788
C) DS KHero oRS08Y - 7S

D)  (®%5)B38e0 - TD S

l.  ASH8s» C

A 58650 D

B 5o8a» C

Sl

B 080 D



137.

138.

The following is not the step taken by Supreme Court to
protect Taj Mahal from pollution

1. Ordered industries to switch to LPG
2. Ordered automobiles to switch over to leaded petrol
3. Ordered automobiles to switch to cleaner fuel.

4. Ordered industries to switch to CNG

SEDTED TerRgo $0& SFoBEA LS Mo §°
THES 565 3208

e
L 2D8EDOM, LPG 306erdd Srored esR80008.

2. IEeSred 200 Ko 2 en Eerdd Sroreod
53380008,

3. TIPTR0 STR0 RO oL FETIE Sroee
es3330008

4. DBESen CNG & 5rod es380008.

The cell organelle consists of a system of membrane bound
vesicles arranged approximately parallel to each other in states
called cisterns.

1. Golgi apparatus

2. Endoplasmic reticulum
3. Mitochondria

4. Centrioles

TP DIFOSTO eod)d Gosseon &oG ?og'é& 9
Sros® 583 (LS SESR> §Y &0% SeT0X0

I ™ vogno

2. ©088s \8Sgere0
3. &woldan

4. o@&8>rS



139. Assertion(A): The splitting of water molecule in photolysis

occurs in the Dark reaction of photosynthesis.

Reason(R): The photons carry light energy to oxidise the

1.
2.
3

4.

chlorophyll molecule.
A and R both are true; R is correct explanation to A
A and R both are true; R is not correct explanation to A
A is true; R is false

A is false; R is true

(B80S (A): A 5708 TS B e N0 BoseEo

§C58‘3235?S 2600“:55‘7(@0‘53663 ax),. 08 7156565
233050,

5600 (R): HST0S wendd e3)560 BaineDH 508

ol

¥ Verren HHIJow.
A 308350 R3Bo&w ééago; R, A3 33 58
A 35850 R3oE» D&0; R, A § 35BS ASTer 52
A ééago; R @269550
A @:69550; R 269§50



140.

141.

In an experiment the solution turned into pink after adding
Diazine green. It indicates

1. Availability of oxygen

2. Short supply of Oxygen

3. Availability of Carbondioxide
4. Short supply of Carbondioxide

2.8 (PDBTK0S" SairdS AR Seudms (@S0 Koerd)
B0KISH STOS8. 38 AID BIV08.

L s o
2 esdjs 5§
3. 03 &) oS
4. TR0 G 56 58

Plants stores the waste in the fruits in the form of
1. Raphides

2 Latex
3. Gum

4 Tannins

300K 00 ST e Ha ErHod” Jeg Sxow.

1. Fore BeTeen
2. 38f)

3. RO

4. e



142. In parthenogenesis, this will develop into a new individuals
1. Unfertilized sperm

Fertilized Ovum

3. Unfertilized Ovum

N

4. Zygote
FYSTEIVRSE’ 30 IS AW wHHY JoHSod.

L $ods8e0 308 HESE0
H0855830 3003 ©0&0
Ho8585830 305 oo

e N

$oasE Deso

143. The movement shown by Mimosa pudica plant to touch is
1. Thigmotropism
2. Thigmonasty
3. Chemotropism
4. phototropism
DT PSS ), YYRHD WD TS0
1 D)THROFESO
)AHS® TP Soso
BN AT0IES50

W N

5°08 @0ITI0



144. Match the following

A)  Rabbit 1) Producer

B) Fox i) Tertiary consumer
C)  Grass iil)  Primary consumer
D)  Tiger iv)  Secondary consumer

808 A SBBBS0k.

A) Ho3ew i) &S BT

B) &%), ii) eﬁo)éaoﬁ DARTH TS
C) K& i)  (PEH IBEKTEE

D) 99 iv) @5@0‘6& DABFK S

. A-ii, B-iv, C-iii, D-i
2. Adiii, B-iv, C-i, D-ii
3. A-iv, B-iii, C-i, D-ii
4. Adiii, B, C-iv, D-ii

145. If the knowledge of a topic of a subject is imported in a single
class and that subject matter is not repeated in any class, then
the system of curriculum organization is

1. Concentric approach
2. Topical approach

3. Psychological method
4. Logical order method

28 @008 BoOS FT TV VOOFONS Yo B8BTS0
28 SSKAS° 3Y), & oo D STKBS'S BBA F'Qoisko
SEREFS, e PG (DETPE SFIRETes ITO

1. 2% Zo|E$¥ S0
903°® DG
[on]

0S° DeeE HSD
Qe [ev]

> DN

SO (55 $ED



146. This is not a step in the experiential learning suggested by
Kolb and fry

147.

1.
2.
3.
4.

Concrete experiences
Cognitive training
Observation of response

Abstraction

§°8), (oo BPD0DT VDTS VPSS SFS” BIB.

1.

2
3.
4

So78 98558950
BRI B)S B5e0
(B&Vos 080S
9350085830

A statement that explains actual event or a physical object is

1.
2.
3.
4,

Fact
Concept
Generalization

Principle

2.8 F°AE 5095 Bov TG HORISI DSBOD (PSS

1.

W N

VS0
—

5558
oS80
Qo



148.

149.

“Explain the factors responsible for the pollution of Kolleru

Lake”

Above question is related to this academic standard

1.
2.
3.
4.

Conceptual understanding
Information skills and project works
Asking questions and making hypothesis

Application to daily life, concern to biodiversity

“§°§ci> DR S"Q)Ji("s@é iSleforte! @6335 ETOS JS580508”
2 B B8 Aoy (B30reTA8 0020005

1.

L

QAT I TS
DIIE IeTgen, (TR SSoen
()00, HOTwYSen FHEo

ez 2IS IS0, A3 JFFO Hey FHoer SOR
G050

Plan for lecture demonstration hall was suggested by

1.

2.
3.
4

VNP. Sri Vasthava
R.H. White house
NCERT, Delhi
VITM, Bangalore

GITY0 (DEHS T (PETPED JD0NSY

1.

L

VNP. (8 5703
R.H. 3¢ 58
NCERT, &9§

™
VITM, B0X530°5



150.

According to the NCF-2005 guidelines, the curriculum should
be meaningful to the knowledge level of the learners and
should not contain false trivialities and incompetent elements.
The validity this shows is

1.
2.
3.
4.

Cognitive validity
Content validity
Process validity

Historical validity

NCF-2005 3050589 (95750 ZJC5°§ (DETVE SLAMRSESS) AR 2088
ROF 0N WES0BOM &OTS B wo) (FETS5o,
TR S IS ©0T00 GOEETEE:. BAY VDO (9570

1.

L

N Ecle
DAGH (FEre0
D& (Fessoeeao
T°0(SE (FPSoee30



